4. Conmider the Ibﬂuwﬁu_ Ang dats s
. pmdm:ﬂnn of mw regard

Couniry A
FCnutﬁlﬂ
Country C©
Country D
| Country &

production I.'lf
more  thati or
pver 157

_?i
58
in which of fthe ﬂﬂ‘-l'l.hﬁ.
cars
equal

g
ﬁ'
5
o

jnj Band E

b} A, Cand Donly
4 A C Dand E
) A, D and Eonly

2. The foliowing table shows the marks of
a0 students in & test of lhm:h

_.E“T_'“
=10
L1=20
21-30
A1)
; 41-50
Wi 5160
.  &l-70
_ 71-80 B A
The perceniage of ﬂm“'m st
obtained Jess than of equal 1o 50%
MArks 18

fal 30
Ml 40%
fe)  45%,

f,m‘” B0,

AVWS-T-MTK/S0C

3. What 'lmmm“hmw
' 3, 31, 2 S

e} %

i S

4. What is the arithmetic mean of the firs
{en composite numbersi®

el BB
= 95
e 102
M) 112
5. Th= umrh obtained 1y

. 19, 26, 32 L :
mﬂrknlnlmﬂ.h =nch

fe) 31

fd) 32

1PTO.




6. Lot p e the mean ofyisge L
4 be the mean of n wnl

F

|y which one of the e
| k m g Sl
LJ_' r;.urn. the Mhm R '

I|_l" i “I the HII'HHHH 'h:!"ﬂ' Il lnhll.'“ PM“:H m q “ ] f\.'
|1|!|l.'-1"-"-1-m'“- in o thm m “ ™+ m| l:“",dm“m? h '“
fpllowing I8 Correcty one of the
fet) (2003, 2005)
) €3 P
i (2001, 20035) "
ihl €2 q (e} (2003, 2004) -
’H.-'F"'i Ei“ Fr_”' 'Hmﬂ, m-' ::'
Scs : . -
) gsesp gt atis of PEEAMERS
\__/ production in 2008 Gomy
! 1o that ln 2090 com
Disections |
o e vext four () ltn, conmie !
the following data with regard. W&EEEM'L types 3
i M :um-p:m'-' in lakhs] : 1
s -
[weor |3 [ 2 il TR 4
2000 | 160 | ‘BO 70 ‘hq 75 _
2001 | 200 | 150 |, 8BS | 160 | 100 i
002 | 135 | 35 |'44 | 95 | 85 2
2003 | 240 | 95 120 | 86 | 130
2004 | 180 | 110 | 85 | 95 | LIS (7S !
2005 | 210 | 150 | 100 | 92 11{3 3
vih LY AR L RN
= .-"'"'-F-
7. ‘Hhu:h p‘mdur_'t 1.1 pj'ﬂdunﬁﬂ'wwm 10. In which vear, ﬂ!ﬂ e
' years 2000-20057 . more than the sum of
359— \ Type 1 and Type VP
) Type H
}F. fa) 2001
~f ipei g ﬁﬁﬁ- b 2002
L5
fol - Type IV fﬁ' AT 2003
” () 2004
fdl Type W

VWE-T-MTK/50C




1l

13,

the sides O A ight.gne, l
the b0 X {x -1, (x - 1!1.“1‘"“ mre in
permeief of the trh-l-‘lgl;:l- What s the

jal 28 umils
ik 42 units
56 uriks

i 84 umnite

AEC is a triangle right angled

a8t H Le
M and N be two pointy on-AR such that
AM = MN=NB. lot P and Q be two
F"C'“'""_ on AC such thai Pif il paralle]
to ON and QN iz paralle] g CR I

8C=12 cm, then what |y {PM + ON|
equal 1o?

faf 10 em
B 11 em
el 12 em
idi 13 .cm

13. AE and CD are the diameters of a circle

which intersect at P, Join AC. CB, 8D
and DA, I ZPAD =061, then whai s
LHPD equal o7

[ P
by 60"
fer 20°
fd) 120

WS-T_MTK/50C

1.

15.

16.

AR ,._.I.mumrnl trllﬂgh ABC and o
riangle DEC are inscribed in g circle o
sume side of the are. What |y £BDC

E.l:lurll “:|'l|J

fa)  30°

) 45°

|'|7.| 0"

) a0

The sides of a trinngle ABC are 4 em,
the trinngle as centres, three cincled
are drawn each touching the other two

externally. What is the mufﬂuntﬁ

ol the thres cirel=s?

fegd Dy Em
bl T oem
ol 5% cm
{dl 10 em
Let PAR be mn secani 1o & cincle:

mitersecting the eirele at A and B Let FT
be the tangent segment. If PA=9 em
and PT'=12 cm, then what a8 AB'
egual bod

(4} 5 cm
b & em
el T.em

idl 9 em

| PT.0.
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1 :

Ay tEDYN Loy
e e |
ﬂ'] A ﬂlﬂ'[h of 3 m m

a conical tent i h Mgy g85. I the perimeter of a wamjg g
,-,ala!!th:ighl:uf?ﬁ‘; B Tmko is 360 m, then what |y iy park

Wha with . 22
of the cloth? n‘kﬂ'# %:ﬁ"hﬂhrigth n_lklf H=T]
A = "bat-i fa) 3850 m?
jh 28 m 'ﬂ{ Lt

A 44 m % d ® 7700 m?
jdl 66 m

&/ 11550 m?

23. A saphere af d -
nio & L}-Jzﬂd.rma.,[ 5 em iy dropped jdi 15400 m
water, The rumu._ﬂih!ﬂ:ﬂ?ﬂﬂhdmth
If the sphere is ssel is 6 om.

| : 26. In a (rapezium m&# narnlle]
in water, then by hﬂr M ’!"ﬂrﬁ": to £, The dll@muﬁ jﬁ nd BO
surface level of water Be raigeds " intersectat A IfAP: PC= ﬁr 3) an

faj 05 cm HP: PD=e—1): Ra+df, ---_.-.::-"-

& 1icm the value of x 7P | l
fel 1-5 em fa) 4
{d 2 cm
iy 3
23. A sector is cut from & circle of mdius
# 21 em. If the length of the arc of the
seilor 18 55 cm, then what is the area iel 3
af the sector? 4
fo) 577-5 em?
& |
) 6125 em? &
fol 7055 em?
fdl 7255 em?® 27. AABC is similar t
¥ »  of AABC and
a4, -"\mrc:amﬂ:l:fﬂ’rm“rimﬂﬂ r 30 em re;
70 em. If it is bent in the "“w’“? (BC+ CA) 1o (&
a 1'I'J'.-.L1-n1:1.utJ menwhﬂ-i*ﬂ"m o
(Take n'= ?i
M 4:3
gl 55 em
&) 75 em fe) Ei'
6! 95 em fd)
" 110 cm B

11
:':."'r'!'h' B-T -MTK f50C
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i 28, TWO jsnmcelon .
s yerucnl ANglew arg have eigiaaml

cathe 4B 50 wh“ "l-“t;:m in 1]51}
their “"TEI'F'ﬂﬂdiﬂll \ 1D mio o
lll' 1:33
M 23035
I|_'| .I.,.' . :."..-'!

|
el <484 5249

29. AfCis a tnangle right angled at A und AD
, w perpendicular to BG W BD=8 ¢m

and DC =125 em, then What s AD
equal ta? A
jal - Tra-cm
g p it
b} B85 em ne

|

30. The surface nrea of a cube 18 uqu:!I ta

, that of a sphere If x i= the volume of the
I cube und y s the volusme ol the sphere,
then what is x%:y* «equal w?

Go = h-n-im

) |0
%

Y - (Y

[ B - = E‘!-“n

| % |

fof ®%3 1
q:'l.

fidl

3:® _V}

KVWE-T-MTK/50C

W,

A
SO

al. A

32.

Lo

33, The ratio. of the radias of hane to the

aa.

A sy OUTer radiids Iﬂ_i"h: =

w

ancs and equal volumes, What

a solid sphere ol diameler

L

» & -ill_h

cone and a hemisphere haye equal

; i the
rutio of the height of the cone in e

radiua of the hemisphere?
et} 15

fiz]
fef

&0
d
felf 4

L

Sk,

melted 1o atreteh into & wire 'of length
{44 cm. What is the diameier of the
wire?

5 cm

||||| | &m

o
|.I.|I-I

I'5 cm

T i

heyght of o cylinder in 3 1““‘“
of the c¥linder is 1617 em?, then what
is (the purface arem of the

cvlitwder? (Take' m= % : i
,q.z! Axyoo ¥ -
T"m? Al '

curved

jo) 242 em®

b 8% em?

A1 462 em? o =
dl TT0 em* |

e duflerence hetwesn the ot
the iwide surface ares of &
pepe 14 cm lpng ia 44 J_*
made of 99 cm® of me

he pipe, then what i (F#
[Take n= =

i % em
b 75 em
e} 6 oem
il 45 em
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. A cone of height 24 o ey

" meited and  made in:f“ 24 cm s e surface arca 550 cm? gpey oo
cubes- 1T the edgey o three wmall @  cavo of its Tadius 5 slany S
are 12 5 And 16 gy O M0all cubes .2 height?
surface area of the '“E“'H‘Hl.i I the i - L Lﬁm

third small cyper X S -
a
! ¥ | —
e RIS
“aishll LT e S
M 1800 em4 3 : =0y
dat ™ 15 ) = &
3400 cm? fuoo -
fel 35
idl 3600 cm?2
a
=t i
4 27 _
36. A conical ""55‘:‘-1 ‘“hﬂﬁﬁ!hrnllmdiu: in 1 - II-
r S o and b ot e e 30, » g e A e
¢ water is emptied into a eylindrical » 22 cm wide. Let x be the yolume ¢
vessel with internal radius 10 cm. What largest cylinder formed "H‘h Fe
is the height to which the water rses? i paper along its length ‘#i ﬁ"
e :__1_. volume af the largest form
) 1 om 1_—;1"%—’_: y o “‘_'-_." rolling the paper mm , -
UM pBe k. T s the ratio of x to y? (Take &= =5
B 2 W “ e AR
(&) Etnﬂ &7 ; 'f'l" — s
Lt o . e
fel 3 em e a S - L3
. {-i- . 1"1\1\“".;'- S
., 1]
il 4 em B /;;ﬁf‘
s
o8- s

37. A metal solid cube of side 22 i i
melted to make amnr:nfh::hh; 2 [tﬂTg-
What is the radius :ﬂ'lhl: base 0

22
cone? (Take n= .?—I S

fa) 11 vm

fb) 165 cm l e

W’J y ! -. .- -I;
I 22 cm ; g - ..:

[} 27-5 cm .

:‘:\-WE...T_MTHIEE
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4t cm:nlﬂr-'f the h"%

VWS- T-MTK 50C

; h‘mulﬂuq. ;

1, sinl"<cogSpe
2. cosBOF > gy S

which af the .ﬁuw in
/are correcty

iw) 1 only

B 2 only
Both 1 and 2

5

jef} Neither | nor 2

42. If pesechi—tan® and g§=-cosecdscotf,

ihen what is P+ap-1) equal 107

O
*la -1 X g‘;*‘f-q;“‘ T 4
& e e
LR 1%#’5-3;“ ¥ Law 3 :‘_IFII" ,]
= 5 -IL"-T.
A H}"& S
(d) 2 ] ”JL;;";:"'

43. U cosecH —cot® = m, then what is coscct

equal o7

pdh 31

)
Tl

1
m_—
m

&

e

W3
4
3 |w

(e} —+

g}

P i e | R
J 46, Il'secB +cosb= g. where 0 < 8 % 9¢F, then

a4, let ABC be a trisngle right gria, X
then what s tanA + tan g “w_tﬂ

).
be

[
)

it

fel

jie}

B BI% g%

45, Let cosg+cosfi=2 ﬂmiﬁﬂu*#ﬂﬂ"'ﬁl
where D20 s90F, DSE<OrF, What is
the vahue of cosla —cesdfi?
fa) O
fby 1
fe) 2
{d] Cannot be del.ﬂrmlmﬂ: ﬂltt 10

insufficient date

what is the value ﬂfﬁia% .

1

% ¢
|

b 1:

finy 2
1

el 3
i
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|||;|lﬁ|-'lﬁﬂ-m . l St
; L s ORq0 el 1o
a8 ien what |m th:t“d'!_-h“"ﬂn.l.m-th 51. Wha
: Alue of kdy l 3 Slop 2

|-JI i

W 33 b 3= 2log €

. TY fel i 511’-‘#:'] 2

i 99 id) S-3logp?

s pole on the ‘
4G -'ltlz verticall Eﬂ:m ;;E:;l wiih §2. Wiat 18 -|,hl: rq'l-lﬂi"ﬁ rowl ol lﬁ—m

from the base of e Bl on the eround. ) WI-AT

two halves ofithe pole subtend the u.u.mr:' =

angie. 1f the pole and the poliit are u; ) 3.5 2T

the same vertical plane, then what is

the length of the pole? o Ji5~ /8

faf '-'.}l meire @ _h;F'i -.I|j

bl ~3x metrs

fe] 2x metre B3,

; &
jdi 242 x metre

0. A vertical tower standing at the corner ol ) 12
a rectangular feld subtends angles of
a0" and 45° at the bwo neRer COTTETS,
Il i the angle that the tower subtends 29
\he farthest comer, then what is

L

b 13

al
cot@ equal to? i} 16
a) = 54. Il n in wﬂw
numbers?
by 2 @ _
) 24 b Four
1 =
: V3 ik - d
3 LV |r'.|' N .
i (2 OB g gt
1 ".I.i 3 L' .-.
N =
KVWS-T-MTK/S0C G :

the sum of the reciprocals of twa
alternate natural numbers is

is the sum of the numbers?

e
L., What
2 .
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(LS

fed}

Bf. What 15 the least  wahie i '
1ein? 8+ 4poat A7 the amalest value n!"!—'ﬂrﬂﬂx"lﬁasﬁ
f<xesl?
fmt 5 . -
.-]'_II‘ E ] ‘nll s
M =1
fe] 3
fd) 2
; £ R then
B = h. whers usa E'

E7. If sintocDd

which one of
fa) ODERSE |

() nﬂk-&ﬂ-ﬁunhr

fc) O 5<k <1 only

fd] gek=<l

XV S-T-MTH/S0C

the following in garrect?

i :*”‘“:"‘Eﬂi*i for 0<8<® ihen
f _:"
ponsider the following: statems :
y, pcan be less than i

28.

2,  pcan be more than 1,

which of e above statements is/are
cofrects ,
jaj 1 anly
b} 2 only
i) Both 1 and 2

fd] Neither | nor 2

af 59, Whal is the Tato of the grestest o

21



.. [ !.rr|.r1r!r gi"l,ﬂt. Sl 1
20%, 10% and gee discounts of

the overall d%mly What is

LR

| N LA e

65, Walking At 1th of hin ueual apeed, o man

s 12 minutcs. late for his offic =
ihe usual Hme taken by him mi"‘“

o) 0% "N thuad distance?
G ekl ~ & «
I“EI{H 3] ﬁ-l:!,“ ﬂi%?r Jaffqﬂ' lﬂnutﬂl
I-,.~_| AEA - :Eﬁ“’ o 1_"1 ‘
¥ : 0 mmuics
id 35% st Bn =
gl il
S e S R HJ A fel 5% minules
62. A sum. ol MANCY Was fwegted at simple - o ¢
nlercat St A Cemain mie for 5 years. .y (4 60 minues
Had it been h’-w Bt g8 _E% hlﬁ]‘i:]’ '__.I_'.-":'

S*

mate, il would hnﬂw F500
What was the principal amount?
{at” ¥ 2,000 '

more,

&6. The cost price of 1
the selling price o

Y

{ 80 mangoes, W

?v‘ I.F'-r - the pl'ﬂﬁf- ptmtﬂtﬁ#?? . H _ Ir
- ——El—‘ - T s* f
fh) 1,800 T“:l ¢ { EI = 'f
fe] 1,600 im P FJ-‘:J.!I“.' : _-'.-lj_!all i *'E l .
- — 1 ) 17
d) 1,200 £ 00 {no b 20% ’l’* " ..
-"H-P o
63" The difference between the compound & A%
- interest (compounded anmuially) and the i -
simple interest en & certain sum of g 25% -
money at 12% per nnmml for 2 !""::h
iz 72, What is the principal amoun! . P
: (A NS - 67. X sella hin goods 25
fa) T w ~\5e and 25% dearer tha
bl *6,000 W percenlige 18 58 |
) ®5,500
id) ¥5,000

; na.ﬂdﬂ"f
64. A train travels mkm‘i:‘“ihﬂ;mt
next 900 km in 10 BOHET
average speed af the

fa) BO km/hr

by
(ci—100 km/hr
120 km/hr 15

o0 km/hr

fed)

AVWE-T-MTK/SO0C
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|
v
rnﬂ-m‘F-“'ln"Eq.l' e how many real valyes of k is
por
:z:rmiuﬁ:hlﬂ ﬂhl O lguid and ”; agocd + 12%x = 2dx *?Iﬁ  perfect square
the mixture go lli“ Ht‘t::‘llq:mtl far every IMIRERT %
! D
20% of the %ﬁ Id becomes fel Zeto
-
1![, One = *h®
S )
3l 15 litres i 1= - & s =
L M Two \...7-‘.’“ -
ol 5 | ) 3 ..r-""-f‘—-
1/ N 20 litres . (O e Fowr |
by 2 b L 1_5 hen what s %=
fe) 29 litrew h h'il-‘lf":{\- = e, I x* = 2 h A g.
L= ta?
@) 25 btres 42 ﬁ.ﬁ"g‘ _ﬁ_‘,‘é cqu.nl ;
p " i
v 4 T 'i_}‘_j_*,.’,:f..:t
69. If 20 persons can glean 20 floors in : 255 "
20 days, then iﬂ. hﬂ:ﬂ_ many days can = 16 '
16 clean 16 fNoors
persons clean 16 P i 625 ar?kj_fi
% ! N
) 25 days N R »
% 1 H/‘.’?‘l idj 0 q:"' "l-'—_i—'l o=
b 24 days ﬁdﬁ’ X
o . (73 If the equation 4x - :
(o 20 days gL '\ cqual roats, then W
< g & .
] %‘-;‘;:l i * 6 - ‘_ _ﬂﬁﬁ:’?
d] 16 days M 1‘:_:' " % 12
bl 4, &
ByliEsa wen. g
70. Lot the work don€ B o donc fe} 0,12
lx + 1) days be I (-1 days be = ) i}'-i'li
by (x+3 men A wﬁll-l s the value 1
if y:z=91 10, then

of x¢
-_ia] B
i 9
e} 10

() 12

VWS T-MTK/S0C
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76, Which one of the

have minim K PWINg fractinna will
added to h;lm n its value if 3 is
; ™ the Mlmeratar and the

denominator of gj e -
Iractions

i ;%.dﬁ

fez)

2 *
fal 4 f’é-% X 'i-_:l
iy i L
’ Hé; o o Go
o2 ‘?1"-‘.3“ 2 4l
e L -
o i o
a2 G B

77. Let the BVErage BSCOTE nf a clna:f of
tovs and girls in an expmination be p

‘ girla class
The ratio of boys and g_irh in the
8 _:: 1. If the average score of the l:-w_i's;
ip + 1), then what is the average Score
the girls?
. RS2
¢
bl (P-4
el =3 GTE - TP
df p . _
; “H'F)E* Gln)=
XVWS-T-MTK/50C

e
@2i1e =P

The ncomes of A, Band Cpnre T —
vog: 12 and their expenditires e in
the ratin B:9:15 If A' iy
urth of his income, then u:: s i
savingn of A, o and C i

TH.

frn) a6 G069

fh) 9%9; 56169 ‘:i-: ﬂ_ﬁ'j_l'?_
{:;.l A0 5694 _g q l‘;,..
) 99:69:56 3’.!1

o X

79, A trainn 200 m loTig pazses a Fiilt'ﬁplm
100 m long i 10 seconds: What is the
speed of the train?

¥

jal 20 mis J ﬂ 1
faf 30 m/fs @
' o] 25-ms im
- idj 20 mja
{;u.'"_:lr
1 I 1 4 1 *'I:-Z' i

T e R

RERETER T

3
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8l e FXpression

simplifien 1o

fal Ix—1

i x-3

B2. What should be added to

part El."'" ﬂ.’!"’ﬁ ?.
e T -5x+ Gfx-4)
1
i |
: (k2 -Tx+13)
fb)

. ' b,
(x? + Tx+ 13

1

o Tx-13
1

fd)

=
x2 +7x-13

WWE-T-MTK/S0C

x-2x-4)

i

jmj =2

=1

fe) O

fedp |

af
e PR

84. [T |x— k) is the HCF of x* +ax+b
o +ex +d, then what is the vl

2021.02.08 10:34



#s. |._|'_Ir“ﬁ-111l"r the M .

: Htmldjlwﬂfmm:md
'-”3 mm: then

HJI - ﬂrmﬂ'—" Proportionnl

B

and 18 inversely proportional to =

then {xy) is inversely proportional
to z2,

Which of the above statements is/are

correct?
fal 1 only
ib) 2 only

je)] Both 1 and 2
fd] Neither 1 nar 2

86. What is the HCF of x3 —19x + 30 end
1 _5x+67

faj x4+ 2 x—3
iB) ix—i‘li.tfﬂlp
el (x+2x-1
i (x—Fl=-3

g7. What is
Ax XN Xt A

equnl to?
faj O
(b 1
fel 2
d) %

wyWS-T-MTK/S0C

_'!';1' For whit il‘i‘tﬂﬂfﬂ-] wvalue of x iy
5

oy

['} _T
T‘;_—s'
a-X
e Ans
b 3 s ;,
5 !
fcl .’u
(d 1 i

89. 1If xix - Hix—2x= Nel=k2, ﬂﬁdwﬂﬁ!
one of the following is & paddﬁt

expresson for k?

jal x?-3x+1

b x4 -3x-1
fe) x?+3x-1
) x?-2x-1

L3

90. What is
- .l.ll- 3 ..... .-.- :
s MV
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q l_ 1§ the num

i Y13zmapyg ~ansider the pairs of pri
divisible by 13, g (CFSEI0IET i 94, Cons Pritie  nimbers
of P? 3- 'ﬁ'ht in the valie {m, Al between 50 and 100 Such that
. m—n==06 How many such pairs are
Lhere?
faj 3
faj 2
fb} G
b} 3
| K
ol g |
1
fd) 8 ) 5 |
52. What is the remainder when 2'909000 iy w8, How B are there in e
ivi ; ; following ploduc
divided by 77
[y, ey A HJILhL . B\-z +h: "|’b‘_’
ol ey + €3 %63+ + 051
fb) 2
fe} 4
fd) B

of |x Y} can be chosen
123 6, A9) such thal

g3. How many pairs
from 1he sc!
- r'!"lul"#hﬂfﬂ ko yt
L} A

jo Zero

2 i
Nk = L
() One Ve

Lﬁﬁ‘k

fei Twe
Wy q
) Three —r
a3
OV WS-T-MTK/S0C
a.-*?f"
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a7 “”'h_r"u.lhrn wh
ATe COoOrmect®

u]_h.l'ea-

} |

] "ti';l-n-]

3 u-‘,b-}

el
elect the comrect answer uning the code

given below,

fal 1 and 3 only

il 2 and 3 only

e 1 and 3 only

fdi 1, 2 and 3

aR. i
pe ._'.i!-t;l 2 ...]q ' |
J3g +2 - JAgsd
Fhaerny whaat i the value of p*
el L
i)
el 2
idl 3
XVWS-T-MTK/80C

ieh of the Fallrwning

= =2abk + be + o)
vl = ~dabja + bj

= Jpiged?

g9, whal I8 the il
ol 6747

fej 1

3

jedi W

100, What s the value of & o

Higit in the EXpanininG
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